[TonyuuTb ypaBHeHHe NBHXKEHHS KyJHCHOro MexaHusma. Haiitu

3Ha4YeHHe yIJIOBOTO yCKOpeHHUs ¢ 1pu t = 0.

Bapuanr 1

MDz = M() — k)UJ3Z,

an = —Hw4,,

an = —VUs,,

My = 10HwMm, k£ = 11Hwmc,
v = 50Hc/m, p = 14Hwme,
I = 9KrM2, mo = 15KT,
ms = 33KTI, m4 = 25KT,
Ry = 34cm, r1 = 23cM,
Rs = 24cMm, Ry = 12¢M,
$1,0 = 1.2, Wi,,0 = 0.1%.

Bapuanr 2

MDz = M() — k)UJ3Z,

an = —pw4,,

an = —UVVUs,,

Mo = 11Hwm, k = 14Hwmc,
v = 25Hc/m, p = 12Hwme,
I = 11K1"M2, mo = 17Kr,
ms = 3DKr, m4 = 27KT,
Ry = 37cwm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 04%

Bapuanr 3

MDz = Mo — kw1z,
an = —Hw4_,

My = 10HwMm,k = 12Hwmc,
u = 15Hwme, I = 7KFM2,
meo = 14Kr, ms = 32Kr,
myg = 24Kr, ms = 50Kr,
Ry = 35¢cm, 11 = 24cwm,
R3 = 25cm, Ry = 20c¢M,
rqs = 12cM, 14 = 13cM,
rs = 16¢Mm,

$1,0 = 1.1, Wi,,0 = 0.2%.




Bapuant 4

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

Moy = 13Hwm, k = 14Hwmc,
v = 8kHc/m, = 12Hwmc,
I = 19xrm2, mo = 17kT,
ms = 35Kr, m4 = 27KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, i4 = 16cM,
$1,0 = 1.4, Wi,,0 = 0.4%.

Bapuanr 5

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 8Hwm, k = 14Hwmc,
v = 8kHc/m, p = 14Hwmc,
I = 5KFM2, meo = 14Kr,
ms = 32KTI, my4 = 24Kr,
Ry = 37cMm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqs = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 04%

Bapuanr 6

Mp, = Mo — kws.,,

M, = —pws.,

F,, = —vus,,

Moy = 9Hwm, k£ = 13Hwmc,
v = 40Hc/m, p = 14Hwme,
I = 6KI‘M2, meo = 14K,
ms = 32KT, my4 = 24KT,
Ry = 36cm, 11 = 25cM,
Rs3 = 26¢cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 03%




Bapuant 7

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

My = 10HwM, £ = 11Hwmc,
v = 25Hc/m, = 11Hwme,
I = TxkrM?2, mo = 17kr,
ms = 35Kr, m4 = 27KT,
R1 = 34cm, 1 = 23cm,
R3 = 24CM, R4 = QOCM,
rqy = 12¢cMm, 14 = 16¢M,
o10=14, w1, 0=01L

Bapuanr 8

MDz = M() — k)UJ3Z,

My, = —pwa,,

Mo = 12Hwm,k = 13Hwmc,
w=12Hwmc, I = 15krm?,
meo = 17Kr, ms = 35Kr,
my4 = 27TKT, ms = TKT,
Ry = 36cm, r1 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,

rs = 12cMm,

$1,0 = 1.4, Wi,,0 = 03%

MDz = Mo — kaz,

My, = —pwa,,

Moy = 11Hwm,k = 11Hwmc,
u=12Hwmc, I = 12K1"M2,
ms = 16Kr, ms = 34kKr,
my = 26Kr, ms = 50Kr,
Ry = 34cwm, r; = 23cmM,
Rs = 24cMm, Ry = 20cwM,
rqs = 12cM, 14 = 15cM,

rs = 16¢Mm,

$1,0 = 1.3, Wi,,0 = 01%




Bapuant 10

Mp, = Mo — kws_,

M, = —pws.,

My = 13Hwm,k = 14Hwmc,
u = 10Hwmc, I = 18K1"M2,
meo = 18Kr, ms = 36Kr,
my4 = 28KT, ms = TKT,
Ry = 37cwm, r; = 26¢M,
Rs3 = 27cm, Ry = 20cM,
rqe = 12cM, 14 = 17cM,

rs = 12cmMm,

$1,0 = 1.5, Wi,,0 = 0.4%.

Bapuant 11

MDz = M() — kwlz,

M, = —pws,,

an = —UVVs,,

My = 10HwMm, k£ = 11Hwmc,
v = 40Hc/m, p = 14Hwme,
I = 7KFM2, meo = 14Kr,
ms = 32KTI, my4 = 24Kr,
Ry = 34cm, r1 = 23cM,
Rs = 24cMm, Ry = 20cM,
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 01%

Bapuant 12

MDz = Mo — kw1z,
M, = —pws,,

My = 10HwMm,k = 12Hwmc,
u = 15Hwme, I = 7KFM2,
mo = 14Kr, ms = 32KT,
myg = 24Kr, ms = 50Kr,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqs = 12cM, 14 = 13cM,
rs = 16¢Mm,

$1,0 = 1.1, Wi,,0 = 02%




Bapuant 13

MDz = Mo — kaz,

My, = —pwa,,

Moy = 11Hwm, k£ = 12Hwmc,
u=11Hwme, I = 8KFM2,
meo = 18Kr, ms = 36Kr,
my4 = 28KT, ms = OKT,
Ry = 35¢cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqe = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 02%

Mp, = Mo — kws.,

M, = —pws,,

Mo = 9HwM, k = 14Hwmc,
uw=13Hwme, I = 6KFM2,
meo = 16Kr, ms = 34Kr,
my = 206KT, ms = 4KT,
Ry = 37cwm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 04%

Mp, = Mo — kws.,
M, = —pws,,

My = 10Hwm,k = 13Hwmc,
uw=12Hwmc, I = 9KrM2,
meo = 16Kr, ms = 34Kr,
my4 = 206KT, ms = 4KT,
Ry = 36cm, 11 = 25ceM,
R3 = 26¢cm, Ry = 20cM,
rqy = 12¢cMm, 14 = 15cm,
rs = llcwm,

$1,0 = 1.3, Wi,,0 = 03%




Bapuanr 16

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

My = 13Hwm, k£ = 13Hwmc,
v = 40Hc/m, g = 12Hwme,
I = 19xrm?2, mo = 17kT,
ms = 35Kr, my4 = 27KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26¢cMm, Ry = 12cM,
$1,0 = 1.4, Wi,,0 = 03%

Bapuant 17

Mp, = Mo — kws.,,

M, = —pws,,

My = 11Hwm, k£ = 11Hwmc,
= 12Hwmc, I; = 12xrm?,
meo = 16Kr, ms = 34Kr,
my4 = 26KT, ms = DKT,
Ry = 34cwm, r; = 23cm,
R3 = 24CM, R4 = QOCM,
rqy = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 01%

Bapuant 18

MDz = Mo — kaz,

M, = —pws,,

an = —UVVUs,,

My = 8Hwm, k = 14Hwmc,
v = 35Hc/m, = 13Hwme,
I = 5KFM2, mo = 15KT,
ms = 33KT, my4 = 25KT,
Ry = 37cMm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqy = 12¢cMm, 14 = 14cm,
$1,0 = 1.2, Wi,,0 = 0.4%.




Bapuant 19

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

Moy = 10Hwm, k£ = 15Hwmc,
v = 40Hc/m, p = 14Hwme,
I = TkrM?2, mo = 14kr,
ms = 32KT, ma4 = 24Kr,
Ry = 38cm, r1 = 27cM,
R3 = 28cm, R4 = 20cM,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 05%

Bapuanr 20

MDz = M() — k)UJ3Z,

My, = —pwa,,

an = —VUs,,

My = 9HwMm, k = 12Hwmc,
v = 8kHce/m, u = 12Hwmc,
I = 6KFM2, meo = 16KT,
ms = 34Kr, m4 = 26KT,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 02%

Bapuant 21

MDz = Mo — kaz,

M, = —pws,,

Moy = 11Hwm, k£ = 12Hwmc,
u=12Hwmc, I = 12K1"M2,
ms = 16Kr, ms = 34kKr,
my4 = 206KT, ms = DKT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 02%




Bapuant 22

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Moy = 11Hwm, k = 15Hwmc,
v = 8kHc/m, = 10HMc,
I = 8KI‘M2, meo = 18Kr,
mg = 36Kr, m4 = 28KT,
Ry = 38cMm, r1 = 27cM,
R3 = 28cm, R4 = 20cM,
rqs = 12¢cMm, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 05%

Bapuanr 23

MDz = M() — kwlz,

M, = —pws,,

an = —UVVs,,

My = 11Hwm, k£ = 15HwMmc,
v = 35Hc/m, = 13Hwme,
I = 11K1"M2, meo = 1DKT,
ms = 33KTI, m4 = 25KT,
Ry = 38cMm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqy = 12¢cM, 74 = l4cmM,
$1,0 = 1.2, Wi,,0 = 05%

MDz = Mo —kw:gz,

My, = —pwa,,
Mo = 9Hwm, k = 11Hwmc,
w = 15Hwme,

I = 6KFM2, meo = 14Kr,
ms = 32KTI, my4 = 24Kr,
Ry = 34cwm, r; = 23cm,
Rs = 24cMm, Ry = 20cwM,
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 01%




Bapuaur 25

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Moy = 9Hwm, k£ = 11Hwmc,
v = 25Hc/m, p = 14Hwme,
I = 7KI‘M2, meo = 15KT,
ms = 33KT, my4 = 25KT,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cM, 14 = 14cM,
010=12 w1 0=01L

Bapuaur 26

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —VUs,,

Mo = 12HwMm, kK = 11Hwmc,
v = 8kHce/m, u = 12Hwmc,
I = 15K1"M2, mo = 17Kr,
ms = 3DKr, my4 = 27KT,
R1 = 34cm, 1 = 23cm,
Rs = 24cMm, Ry = 20cM,
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 01%

Bapuantr 27

Mp, = Mo — kws_,
M, = —pws,,

My = 8Hwm,k = 12Hwmc,
u = 15Hwme, I = 5KFM2,
mo = 14Kr, ms = 32KT,
my4 = 24Kr, ms = 3KT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqs = 12cM, 14 = 13cM,
rs = llcwm,

$1,0 = 1.1, Wi,,0 = 02%




Bapuanr 28

MDz = Mo — kaz,
M, = —pws.,

Moy = 11Hwm,k = 12Hwmc,
u=11Hwme, I = 8KFM2,
meo = 18Kr, ms = 36Kr,
my4 = 28KT, ms = OKT,
Ry = 35¢cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqe = 12cM, 14 = 17cM,
r5 = 10cM,

$1,0 = 1.5, Wi,,0 = 0.2%.

Bapuaur 29

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 10HwMm, k£ = 11Hwmc,
v = 15Hc/M, g = 12Hwme,
I = 7KFM2, mo = 17KT,
ms = 3DKr, my4 = 27KT,
Ry = 34cm, r1 = 23cM,
R3 = 24cM, Ry = 20cM,
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 01%

Bapuanr 30

MDz = Mo — kaz,

M, = —pws.,

F,, = —vus,,

My = 12Hwm, k£ = 13Hwmc,
v = 20Hc/m, p = 10Hwme,
I = 13KI‘M2, meo = 18KT,
ms = 306KT, my4 = 28KT,
Ry = 36cm, 11 = 25cM,
Rs3 = 26¢cm, Ry = 20c¢M,
rqe = 12¢cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 0.3%A
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OtBeThl

T = (¢?/2)(A + Bsin? @)
A B Q €
1 10.907 | 2.777 -21.761 | -1.634
2 | 13.396 | 1.898 2.168 0.139
3 8.960 2.427 | -16.814 | -1.548
4 | 21.396 | 4.143 | -34.089 | -1.345
5 7.190 1.848 | -13.228 | -1.542
6 8.074 14.211 | -62.046 | -3.231
7 9.023 | 15.539 | -27.259 | -1.132
8 17.268 | 2.275 | -23.634 | -1.215
9 | 13.965 | 5.640 | -58.118 | -3.027
10 | 20.464 | 5.508 | -30.620 | -1.491
11 8.850 3.500 3.620 0.310
12 | 8.960 2.427 25.151 2.306
13 | 10.205 | 2.206 | -23.018 | -2.252
14 8.327 2.073 -34.122 | -4.016
15 | 11.203 | 3.799 -3.059 | -0.259
16 | 21.268 | 3.594 -8.987 | -0.365
17 | 13.965 | 3.730 -3.767 | -0.217
18 | 7.259 | 16.752 | -82.347 | -3.817
19 | 9.310 | 16.576 | -79.357 | -3.605
20 | 8.083 1.881 | -29.040 | -2.956
21 | 14.083 | 3.462 | -28.244 | -1.968
22 | 10.599 | 2.847 | -67.277 | -5.013
23 | 13.383 | 18.066 | -78.549 | -2.754
24 | 7.850 1.129 | -38.656 | -4.783
25 | 8.907 | 13.109 | -2.382 | -0.120
26 | 17.023 | 4.867 -41.754 | -1.920
27 | 6.960 1.430 1.334 0.162
28 | 10.205 | 2.249 | -22.818 | -2.233
29 | 9.023 1.814 -17.097 | -1.586
30 | 15.333 | 19.965 | -25.982 | -0.742
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